




















What did you learn ofter this activity?

Glossary Index in alphabetic order

!7De+ec+or Resolution
The resolution is the capability to distinguish between one value and another. P

. - . b . o ag 3
A detector has in general a finite resolution because it is impossible to distinguish all
the infinite values between one quantity and the other.

Energy Bin

In nature cosmic rays are emitted in a continuum at all kinetic energies. Because of

finite detector resolution we cannot distinguish between all the infinite values of kinetic Pdg 3
energies but we can group them in discrete intervals called bins.

eV and GeV

An electron volt (eV) is the amount of kinetic energy an electron has ofter it has been

accelerated by an electric potential of 1 volt. Because an electron is so small, an eV is @ qu 3

very small amount of energy that is equivalent o 1.6x10-19 joules. A giga electon volt
(GeV) is 1 billion (109) eV. An electron with a kinetic energy of 1 GeV is traveling at
99% the speed of light.

Proton Rate
The proton rate is obtained by counting the number of protons that pass through our Paq 9
detector for each second. The system of units is [porfides/sec] or [Hz] the same as the ag
frequency.

Slope

A line is described by the equation y = mx + b, where x is the independent variable, y
is the dependent variable, b is the y-intercept of the line, and m is the slope of the line.
The slope is defined as the amount that y changes (Ay) divided by the amount that x
changes (Ax) from one point on the line to another: m = Ay/Ax, often referred to as qu 5
the rise/run. The slope is a measure of how much y changes when x changes. If the
slope is positive, then y increases when x increases. If the slope is negative, then y
decreases when x increases. If the slope is zero, then y doesn't change at all when x

changes. A slope of zero means that y doesn't depend on x.




